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Question: 50

A VxRail has been configured with the VxRail-deployed vCenter Server option. Which service VMs can be optionally hosted on
the VxRail cluster?
A. VxRail Manager, vCenter Server, and Platform Services Controller
B. VxRail Manager and Secure Remote Services/VE
C. vCenter Server, Platform Services Controller, and Secure Remote Services/VE
D. vRealize Log Insight and Secure Remote Services/VE

Answer: C

Question: 51

You are planning to install CloudArray Virtual Edition. Where should you navigate to in VxRail Manager?
A. Config > System
B. Config > General
C. Support > Download
D. Config > Market

Answer: C

Question: 52

Which VxRail model series supports only hybrid disks?
A. S Series
B. P Series
C. E Series
D. G Series

Answer: D

Reference: https://www.dellemc.com/en-us/collaterals/unauth/data-sheets/products/converged-infrastructure/h16763-
vxrail-14g-spec-sheet.pdf
Question: 53

A user has three G Series nodes in a VxRail cluster. They are planning to add five additional G Series nodes.
How much additional rack is required to accommodate the new nodes?
A. 1U
B. 2U
C. 5U
D. 10U

Answer: B

Reference: https://www.academia.edu/36442394/VxRail_Appliance_Technical_Overview_Student_Guide
Question: 54

When using a vSAN storage policy with FTT = 1 and FTM = Mirroring, how many witness components exist for a VMDK?
A. 0



B. 1
C. 2
D. 3

Answer: B

Reference: https://cloud0ps.wordpress.com/category/vmware-virtual-san/
Question: 55

What is the minimum number of nodes needed for self-healing after a failure with a vSAN storage policy of FTT = 1 and FTM =
Mirroring?
A. 3
B. 4
C. 5
D. 6

Answer: C

Question: 56

There is a request to add new disks to an existing VM residing on a VxRail vSAN that you manage. One disk is 250 GB. The
VM is using the vSAN default storage policy.
How many vSAN objects will be created?
A. 2
B. 3
C. 6
D. 9

Answer: D

Question: 57

A VxRail administrator has been informed by Dell EMC that an Internet software upgrade is available for their VxRail cluster.
The administrator logs into VxRail Manager. VxRail Manager shows only the Local Upgrade option and not the Internet
Upgrade option.
What is a possible reason?
A. The VxRail Manager user has insufficient privileges
B. Workstation accessing VxRail Manager does not have Internet connectivity
C. Secure Remote Services has not been enabled
D. VxRail Manager VM does not have Internet connectivity

Answer: D

Question: 58

What are the vSAN storage policy settings applied to the VxRail Manager VM during initial setup?
A. Primary level of failures to tolerate = 1
Failure tolerance method = Erasure coding
Object space reservation (%) = 100
B. Primary level of failures to tolerate = 1Object space reservation (%) = 100
C. Primary level of failures to tolerate = 1
Failure tolerance method = Mirroring



Object space reservation (%) = 50
D. Primary level of failures to tolerate = 2Failure tolerance method = Mirroring

Answer: C

Reference: https://wuchikin.wordpress.com/2018/03/28/dell-emc-vxrail-vmware-virtual-san-stretched-cluster/
Question: 59

An administrator attempts to add an S Series node to a Gen 2 VxRail cluster and the build fails. What is a possible reason for this
failure?
A. IP address pool has no more free addresses
B. Hybrid and Flash nodes cannot be mixed in the same cluster
C. Quanta and Dell nodes cannot be mixed in the same cluster
D. Loudmouth process needs to be restarted

Answer: B
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